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1. A ball is thrown in the air with position (at t seconds) given by s(t) = 2t> + ¢2. Let
v, be the average velocity from time t=1 to time t=3 and v; be the instantaneous
velocity at time t=3. Then
(A) v = 30,v; = 60
(B) v = 33,v; =63
(C) vg = 48,v; = 60
(D) vq = 48,v; = 63
(E) vo = 120,v; = 60

2. If f is a differentiable function with f(4) = 1 and f'(4) = 2, the derivative of
1+e°f(z)

VT
(A) 12¢*
(B) 2=

23e?+1
(C) ==

at x=4 is..

41
(D) 2t

6el—1
(E) ==
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3. If g(x)==x+2cosz, find all values of ain [-7, Z] at which the tangent line through
(a,g(a)) is parallel to y = 2z — 3.

(A) —%
(B) -3
©) -%
(D)

(E)

WA oy

d .
4. Find d—i at z =2 for y=ein2,

(A) 2
(B) -2
(©)0
(D) e
(E) -

5. The tangent line to h(t) = (2t — 2)3/2 at the point (1,1) is:

(A)y—1=F(z-1)
B)y-1=3(z-1)
©y-1=3@-1)
D)y—1=2(z-1)
(B)y—1=3(z—1)
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6. Find ¢'(t) if g(¢) :sin"l(%).

(A) o
(B) 7
©) 7
(D) 7
(E) s

7. If f(z) is as sketched, which graph represents the graph of f’ ?

:
/\/ { A) .
// - \\@

R

<)

e

G—¢

W), (E)

/*’Ch ~NL
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cosf —1
8. Find ].E)I%) (m) .

(A) -2
B) -1
C) -
D)0

N TN

l\)l»—-

—

(E) The limit does not exist

d 2
9. Compute %(3z ) when x = 2:

(A) 9In3
(B) 811n3
(C) 361n3
(D) 3241n3
() s

10. Assume f and g are differentiable functions, F'(z) = f(g9(z)) , g(1) =2, f(1)=-1,
f(2)=3, ¢1)=10, f'(1)=5, and f'(2) =4. Compute F'(1).
(A) —-10
(B) -
(©)8
(D) 30
(E) 40



MA 161 & 161E EXAM 2 SPRING 2005 Page 6 of 7

11. Find % at the point (0, T) for the curve given implicitly by tan(z —y) = ze® — 1.

=

~ ~—

Q ™

N’ N’ g
N = e s~ O

CRC

12. A particle moves on a line with equation of motion s(t) =sinzt for 0 < ¢ < 1. Find
the acceleration at the instant when the velocity is zero.
(A) =
(B) =
©)1
(D) —m
(E) —n?
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13. Find a formula for f®)(-1) if f(z) = 3245

S
I
pat

=)

N SN N N~
= Q
— N N
N |
W= %|w ] OO|

14. A cylinder of height 1 and radius r has value V = 2#r2. If r is increasing at the rate
of 3 cm./sec., how fast is the volume increasing when r = 27





